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2% A (T1-7TD)

0. PiEAs XTEAEF L2o)—

1 10:00 ~ 10115 2RSS VS FERFC A HZF—A
2 1018 ~ 1033 RIBPRRS A VS ANRS HZF— A
3 10:36 ~ 10:51 RIBFRS A VS ERRFC HZF—A
4 1054 ~ 11:09 EERFC A VS RIBPRRS A HZF— A
5 1112~ 1127 SERFC VS BHERS HZF -1
6 11:30 ~ 11:45 AFMRS VS RIBRS A HF— A

2F4B (7173

0. PIE2RIE T AEF L2 —

1 10:00 ~ 1015 E5YR VS RIFRS B HEF—A
2 10118 ~ 10:33 E>TAYR VS WDHERS HZF—A
3 10:36 ~ 10:51 HRERFC B VS RIFPRRS B HEF—A
4 1054 ~ 11:09 RIBRS B VS [E>TAYR HEZF—A
5 1112 ~ 1127 RIFPRRS B VS £E5YR HEF—A
6 11:30 ~ 11:45 DDERS VS FERFC B HZF—A

184% (7T+17D)

0. B XU AEF LD —

1 1000 ~ 1015 RIERS VS RIBPRRS HEZF—A
2 1018 ~ 10:33 FHERFC VS £5YR HEZF—A
3 1036 ~ 10:51 AMRS VS ERRFC HEZF—A
4 1054 ~ 11.09 RIEPRRS VS FHERFC HEZF—A
5 1112 ~ 1127 EERFC VS RIBRS HEZF—A
6 11:30 ~ 1145 E5YR VS KRS HZF— A

R (T1-7D)

0. PIEARI T AEF L2D)—

1 1000 ~ 1015 RIEPRRS VS E5YR HEZF—A
2 1018 ~ 10:33 BHERS VS FERFC HF—A
3 10:36 ~ 1051 RIBRS VS | AMRS « [d>TAYR HEZF—A
4 1054 ~ 1109 BHERS VS RIBPRRS HEZF—A
5 1112 ~ 1127 RIBRS VS £5YR HEZF—A
6 1130 ~ 11:45 FRERFC VS [ RNHRS . > TAYR BT —A




